EARAROBEEIERT — 2 N— IBISH —F

2012128158 (4) SHEFR#5H

R REXA

REEFI

[($57E] Fikb

EZS

& ‘ [RERSE] — | & (&) 1800M FBE

[A~&£] 1 7% 5,000,000  ~ 23 :2,000,000H 33 :1,300,000 " 43 :750,000 " ~ 5 j& :500,000

ABICOVWTRDTEEERROODE. TR LIV,

& %B mEBR Mk ME BF (&) 24 L (&%) | @BIBf | £3F |SIEE | AR | AE | R FIRB) / BE / £ERS
A 4t 2 | BKth— 1:54.2 4-4-4-3 | 38.1| — 4 472 | BEKXE (FR)
112 A ZAHHEI 55.0 (=) (-p) |FWTEET
R:v2RKUIYRIX B:T7> KL/ — bR #Et /—Rex
<= # o2 | FIEEZ 1:54.2 1-1-1-1 | 38.5| — 1 482 | BRE (ER)
2 1| /339 55.0 (7€) (4) | RBAETF
L:¥r/07a4 B:YaUT7Ed- HE SRk
S5 A . o2 | ESEE 1:54.6 2-2-2-2 [38.7| — 7 462 | RBIER (FER)
3KY 3 FLTAy hTEA 55.0 (2 1/2) (-10) %HE%
R:V~YZotw574L B:FLFHIFYaY NBT77—L4
_ e — = AR . -5-5- — #HET (FR)
4lglo| VTSI XTIH- o2 el 1.(575).8 4-5-5-5 | 39.6 2 ff) %gga
L:TINTFNZL2 B:Yav/hhU-X =]
. — k. 4 2 | EREN 1:56.5 7-6-6-5 | 40.0| — 5 456 | BHEE (EX)
5|8[10| &Y FYY = b 5.0 @ C12) | (B) =il b4
R:VZRZ—=3IZ2R8— B4V 977v7 =R %S
AL R o2 | ATEN 1:56.5 2-2-2-3 | 40.5| — 3 500 |ETEE (RR)
6155 XLk . 55.0 (NF) (-2) Pusc &S
Ry RYJYZXIRX B:OEy hT5>va KRHE
= ; 4 2 | EREH 1:56.7 10-10-10-9 | 39.4 | — 8 464 | EHEESB (ER)
707|771 TLaXZL 55.0 (1 1/4) (g | TELER
R:FFHRAFF>Td BielLH¥R 2= FiiE
A S 4 o2 | EUEMER 1:57.1 6-6-6-7 |40.5| — 6 522 |ZABEN (FH)
8l7/8 Tz RK=Jb . 55.0 (2 1/2) (-p) | FIRET
X THANAIN BT T1TH T — FrEF T — L
i oo | JIBE= 1:57.3 7-8-8-8 | 40.3| — 9 498 | IIHHEE (F]R)
9 4 TANH/) hy—L 55.0 (1 1/4) 0 LHEEAR
L:aH /=AMy B:aH/ by—1 ARSUHB A/ 77— 4
. < i 2 | B 1:58.6 9-9-8-9 |41.5| — 10 | 502 |#umzeiE (X)
1w 6| F77>A-X 54.0 ® () |1
Ry KYTYRIZR B hUUDL ok
@ 21 L
£y 51.3-38.5
NO>24 L | 12.9-11.4-13.1-12.3-13.2-12.8-12.7-12.3-13.5
@ I—F—@EBIERL
13=3r= 1(3,5) (2,9)-8(4,10)6,7
20—+— 1(3,5)2,9-(8,10)4,6,7
== 1(3,5)2,9(8,10)-(4,6)7
41—F— 1,3(2,5) (9,10)8-4(6,7)
[ RN
B R 2 1,510 | | 71 K 1-2 4501 | | # = 1-2 1,010 | | 3&=4& 1-2-3 4,510M
# B 2 280M 2=3) 3,170 B E 12 9108 EE 2-1-3 32,940
1 110 1-3 1,120H B H 2-1 2,730M
3 680




